(St Speering

Jefa brake spinners

Agenavej 43, 2670 Greve
Denmark

TIf: +45 4615 5210 & Fax: +45 43695211
Email: info@jefa.com www.jefa.com

Standard brakespinners

\\14-3865 Spinnershaft short

74-375 Spinner brake hub
«——7P3-102 O-ring 58,74x3,35

ZB0405 clear label g44mm, blue logo

4’;86!\/\ shaft spinner

\24-375 Spinner brake hub

~——7P3-102 O-ring 58,74x3,35
ZB0405 clear label g44mm, blue logo

d

ZB0405 clear label g44mm, blue logo

4387 Shaft spinner 120mm
(Thread shortened 2mm)
14-377 POM spacer for spinner

74-375 Spinner brake hub
ZP3-102 O-ring 58,74x3,35

\487 Shaft spinner 120mm
J ~Z4-375Spinner brake hub
~——1P3-102 O-ring 58,74x3,35
ZB0405 clear label g44mm, blue logo

SP-SP095 SP-SP105 _ SP-SP118 (TRS1018) SP-SP120 SP-SP125 SP-SP139
Jefa single spoke wheel Bavaria composite wheel | Hanse composite wheel|Jefa composite wheel | for Carbonautica wheel |Jefa tandem spoke wheel
(TRSO088) (BA422060) (WHG wheel) (TRS1028) (TRSO089) 139
95 105 118 120 125 70 69
35 60 45 . €0 49 69 51 69 5 _ 69 -
= A7 =
B ) Loy " " - | " "

4388 Shaft spinner 125mm
74-377 POM spacer for spinner
14-375 Spinner brake hub
ZP3-102 O-ring 58,74x3,35

14-386T Shaft spinner
14-377 POM spacer for spinner
74-375 Spinner brake hub
ZP3-102 O-ring 58,74x3,35

/’7")

4-389 Shaft spinner 133mm
14-377 POM spacer for spinner
Z4-375 Spinner brake hub
ZP3-102 O-ring 58,74x3,35
ZB0405 clear label g44mm, blue logo

4-384 Shaft spinner 8mm
Z-DIN0976-M10 Studbolt M10x070
14-377 Spinner pom part @ 34
74-375 Spinner brake hub

ZP3-102 O-ring 58,74x3,35
ZB0405 clear label g44mm, blue logo

4-384 Shaft spinner 8mm
Z-DINO?976-M10 Studbolt M10x070
74-377 POM spacer for spinner
74-375 Spinner brake hub

ZP3-102 O-ring 58,74x3,35
ZB0405 clear label g44mm, blue logo

7B0405 clear label @44mm, blue logo ZB0405 clear label @44mm, blue logo
SP-SP133 SP-SP143 SP-SP150 SP-SP169Dis SP-SP173Dis
carbon wheel small cone |carbon wheel big cone BS30|carbon wheel big cone BS25| Diseng. wheel big cone diseng. wheel small cone
BS25 133 143 150 169 173
70 63 /0 - 73 70 | 80 100 . 69

74-384 Shaft spinner 8mm
Z-DIN0976-M10 Studbolt M10x100

21-411 Delrin spacer for brakespinner
74-375 Spinner brake hub

ZP3-102 O-ring 58,74x3,35
ZB0405 clear label g44mm, blue logo

110

, 63

74

Z-DIN0976-M10 Studbolt M10x110
21-411 Delrin spacer for brakespinner

ZP3-102 O-ring 58,74x3,35
ZB0405 clear label g44mm, blue logo

74-384 Shaft spinner 8mm

-375 Spinner brake hub

SP-DS-$
Single spoke wheel

ZP3-102 O-ring 58,74x3,35
1B0420 Engagement spinner sticker

-DIN7984-M06x20 Socket head thin cap screw M06x20

21-424 Spinner hub for disen-steerer

SP-DS-G
GRP wheel

Brakespinners for disengagement steerer

ZP3-102 O-ring 58,74x3,35
ZB0420 Engagement spinner sticker

Z-DIN0912-M06x35 Hexagon socket head screw CH A2 Méx35

11-424G Spinner hub for disen-steerer

-DINO?12-M06x50 Hexagon socket head screw CH A2 Méx50

11-424C Spinner hub for disen-steerer carbon wheel
ZP3-102 O-ring 58,74x3,35
ZB0420 Engagement spinner sticker

SP-DS-C
Carbon wheel

SP-DS-T
Tandem spoke whe

50

ZP3-102 O-ring 58,74x3,35

Z-DIN0912-M06x55 Hexagon socket head screw CH A2 Mé6x55

Z1-424T Spinner hub for disen-steerer tandem wheel

7B0420 Engagement spinner sticker

el




	Sheet1
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View20
	Drawing View21
	Drawing View28
	Drawing View30
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49


